
BHASVIC MαTHS 

A2 Doubles summer CWC answers 

Section: Core 
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2.  a) 2 – 3i b)  

c) grad OP x grad OQ = 2
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2
 

d) 5
2
− 1

2
𝑖𝑖 e) √26

2
 

3. 𝑥𝑥 = −4 ± 3𝑖𝑖  , 𝑥𝑥 = ±2𝑖𝑖 

 

4. a)  b) √5  or 2.24 c) -0.46 d) -5 + 2i 
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7. 30 

8. (b) 4804 

9. (a) 𝑛𝑛2(𝑛𝑛 + 1) 

10. Proof 

11. Proof 

12.  (a) (𝑟𝑟 + 2)2 − 𝑟𝑟2 = 4𝑟𝑟 + 4 

13. (b) 1 − 1
(𝑛𝑛+1)2, 𝐴𝐴 = 1, 𝐵𝐵 = −1 
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 (c) 0.06 

14. (b) 𝑛𝑛(4𝑛𝑛+5)
(𝑛𝑛+1)
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17. a) 2𝑥𝑥 tan𝑥𝑥−𝑥𝑥
2sec2𝑥𝑥

tan2𝑥𝑥
  b) 1+sin𝑥𝑥

cos2𝑥𝑥
  c) e2𝑥𝑥(2 cos 𝑥𝑥 − sin 𝑥𝑥)   

 
 d) e𝑥𝑥 sec 3𝑥𝑥 (1 + 3 tan 3𝑥𝑥) e) 3cos3𝑥𝑥−sin3𝑥𝑥

e𝑥𝑥
 f) e𝑥𝑥 sin 𝑥𝑥(sin 𝑥𝑥 + 2 cos 𝑥𝑥)  

 

 g) tan𝑥𝑥−𝑥𝑥 sec2𝑥𝑥 ln𝑥𝑥
𝑥𝑥 tan2𝑥𝑥

  h) 𝑒𝑒
sin𝑥𝑥�cos2𝑥𝑥+sin𝑥𝑥�

cos2𝑥𝑥
 

 

18. (ai) e3x(sin x + 7 cos x)  (aii)3x2 ln (5x + 2) + 
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22. (a) In partial fractions A and B should be 1/3 and -1/3, c is ln 2 (use the fact that when t = 0, x = 0) 

 (b) as 𝑥𝑥 → 3, 𝑡𝑡 → ∞ so cannot make 3g   

23. (a) 𝑑𝑑𝑑𝑑
𝑑𝑑𝑑𝑑

= 20 − 𝑘𝑘𝑘𝑘 (b) V = 20
𝑘𝑘
− 20

𝑘𝑘
𝑒𝑒−𝑘𝑘𝑘𝑘 (c) 108 cm3 (3.s.f) 

24. a) proof b) n = 450 e2t + 50  c) number of fish would be infinite, unrealistic 

25. (c) 0.24% 



26. (a) (i)  1 − 𝜃𝜃2

2!
+ 𝜃𝜃4

4!
− 𝜃𝜃6

6!
+  … 

  (ii) 𝜃𝜃 − 𝜃𝜃3
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  (iii) 1 + 𝑖𝑖𝑖𝑖 − 𝜃𝜃2
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 (b) 1 + 𝑖𝑖𝑖𝑖 − 𝜃𝜃2

2!
− 𝑖𝑖𝜃𝜃3

3!
+ 𝜃𝜃4

4!
+ 𝑖𝑖𝜃𝜃5
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27. (a) 1 − 𝑢𝑢2

2!
+ 𝑢𝑢4

4!
− 𝑢𝑢6

6!
+ … 

 (b) 1 − 2𝑥𝑥2 + 2𝑥𝑥4

3
− 4𝑥𝑥6

45
+  … 

28. (b)  𝑓𝑓(3)(𝑥𝑥) = 4𝑓𝑓′′(𝑥𝑥) − 13𝑓𝑓′(𝑥𝑥) 

  𝑓𝑓(4)(𝑥𝑥) = 4𝑓𝑓(3)(𝑥𝑥) − 13𝑓𝑓′′(𝑥𝑥) 

 (c) 𝑓𝑓(𝑥𝑥) = 3𝑥𝑥 + 6𝑥𝑥2 + 3
2
𝑥𝑥3 − 5𝑥𝑥4 + … 

 


